

(9.20) F1

$$\frac{\partial}{\partial \theta} \ln p(X|\theta) = \frac{\partial}{\partial \theta} \mathcal{L}(g, \theta) + \frac{\partial}{\partial \theta} \text{KL}(g||p)$$

\Rightarrow

$$g(z) = p(z|X, \theta^{\text{old}})$$

\Rightarrow (9.22) に注意

$$\text{KL}(g||p) = -\sum_{\mathbf{z}} p(\mathbf{z}|X, \theta^{\text{old}}) \ln \frac{p(\mathbf{z}|X, \theta)}{p(\mathbf{z}|X, \theta^{\text{old}})} = 0$$

\Rightarrow

$$\frac{\partial}{\partial \theta} \text{KL}(g||p) = -\sum_{\mathbf{z}} p(\mathbf{z}|X, \theta^{\text{old}}) \frac{\frac{\partial}{\partial \theta} p(\mathbf{z}|X, \theta)}{p(\mathbf{z}|X, \theta)}$$

\Rightarrow

$$\begin{aligned} \frac{\partial}{\partial \theta} \text{KL}(g||p) \Big|_{\theta^{\text{old}}} &= -\sum_{\mathbf{z}} \frac{\partial}{\partial \theta} [p(\mathbf{z}|X, \theta)] \Big|_{\theta^{\text{old}}} = -\frac{\partial}{\partial \theta} \left[\sum_{\mathbf{z}} p(\mathbf{z}|X, \theta) \right] \Big|_{\theta^{\text{old}}} \\ &= -\frac{\partial}{\partial \theta} 1 \Big|_{\theta^{\text{old}}} = 0 \end{aligned}$$

和と微分交換してよい

\Rightarrow

$$\frac{\partial}{\partial \theta} \ln p(X|\theta) \Big|_{\theta^{\text{old}}} = \frac{\partial}{\partial \theta} \mathcal{L}(g, \theta) \Big|_{\theta^{\text{old}}} + \frac{\partial}{\partial \theta} \text{KL}(g||p) \Big|_{\theta^{\text{old}}}$$

\Rightarrow

$$\frac{\partial}{\partial \theta} \ln p(X|\theta) \Big|_{\theta^{\text{old}}} = \frac{\partial}{\partial \theta} \mathcal{L}(g, \theta) \Big|_{\theta^{\text{old}}}$$

\Rightarrow 得る。